
Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2017 METRA ELECTRONICS CORPORATION REV. 7/24/25 INST95-3019B

I N S TA L L AT I O N I N S T R U C T I O N S
95-3019B

Attention!  Let the vehicle sit with the key 
out of the ignition for a few minutes before 
removing the factory radio. When testing the 
aftermarket equipment, ensure that all factory 
equipment is connected before cycling the  
key to ignition.

KIT COMPONENTS
• A) Radio trim panel • B) Radio housing • C) Radio brackets • D) #8 x 3/8” Phillips screws (6) TOOLS REQUIRED

• Panel removal tool • Phillips screwdriver  
• 9/32” socket wrench • Cutting tool

TABLE OF CONTENTS

Dash Disassembly ..................................................2
Kit Assembly .......................................................... 3

WIRING & ANTENNA CONNECTIONS (sold separately)

Wiring Harness: Refer to metraonline.com 
for audio/video, and steering wheel control 
interface options.
Antenna Adapter: 40-EU55

Fits Chevrolet Malibu (excluding Malibu Limited)  

2016-2024
Visit MetraOnline.com for more detailed information about the product and up-to-date vehicle 
specific applications

KIT FEATURES
• ISO Double-DIN radio provision
• Painted scratch-resistant matte black

A B C D



2 386.257.1187   |   MetraOnline.com

1. Unclip and remove the small trim panel 
above the factory radio display, and 
then remove (2) 9/32” screws exposed. 
(Figure A)

2. Unclip and remove the trim panel below 
the climate controls that extend across 
the dash, and above the glove box. 
(Figure B)

3. Unclip and remove the climate controls. 
(Figure C)

DASH DISASSEMBLY

(Figure A) (Figure D)

(Figure B) (Figure E)

(Figure C) (Figure F)

4. Inside a small cavity located behind 
the climate controls, remove (2) 9/32” 
screws facing up that are securing the 
radio assembly. (Figure D)

5. Unclip and remove the radio assembly. 
(Figure E) 

6. Cut and remove the shaded area from 
the sub-dash to allow clearance for the 
aftermarket radio. (Figure F)

 Continue to Kit Assembly

Remove shaded area



REV. 7/24/2025 INST95-3019B 3

KIT ASSEMBLY

1. Secure the radio brackets to the radio 
using the screws supplied with the 
radio. (Figure A)

2. Slide the radio/bracket/assembly in 
between the radio trim panel and the 
radio housing and secure with the 
(6) #8 x 3/8” Phillips screws provided.  
(Figure B)

3. Locate the factory wiring harness and 
antenna connector in the dash, and 
complete all necessary connections to 
the radio. Metra recommends using the 
proper mating adapter from Metra and/
or AXXESS. Test the radio for proper 
operation.

4. Reassemble the dash in reverse order  
of disassembly. (Figure A) (Figure B)



Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2017 METRA ELECTRONICS CORPORATION REV. 7/24/25 INST95-3019B

I N S TA L L AT I O N I N S T R U C T I O N S
95-3019B

Having difficulties? We’re here to help.

 Contact our Tech Support line at:
 386-257-1187
 Or via email at:
 techsupport@metra-autosound.com

Tech Support Hours (Eastern Standard Time)
Monday - Friday: 9:00 AM - 7:00 PM
Saturday: 10:00 AM - 5:00 PM
Sunday: 10:00 AM - 4:00 PM

Metra recommends MECP 
certified technicians



¡PRECAUCIÓN! Todos los accesorios, interruptores, 
paneles de controles de clima y especialmente las 
luces del indicador de las bolsas de aire deben estar 
conectados antes ciclar la ignición. Además, no 
quite el radio de fábrica con la llave en la posición o 
de encendido ni con el vehículo funcionando.

Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2025 METRA ELECTRONICS CORPORATION REV. 7/24/25 INST95-3019B

I N S T R U C C I O N E S  D E  I N S TA L AC I Ó N
95-3019B

CARACTERÍSTICAS DEL KIT
• Provision de radio ISO Doble DIN
• Pintado en negro mate resistente a arañazos

COMPONENTES DEL KIT
• A) Panel de moldura de radio • B) Carcasa del radio • C) Soportes del radio • D) #8 x 3/8” Tornillos de Phillips (6) HERRAMIENTAS REQUERIDAS

• Herramienta para quitar paneles 
• Destornillador Phillips • llave de tubo 9/32” 
• Herramienta de corte

INDICE

Desmontaje del tablero ........................................2
Ensamble del kit .................................................... 3

CABLEADO Y CONEXIONES DE ANTENA 
(se venden por separado)

Arnés de cableado: Visita metraonline.com  
para opciones de interfaz de control de  
audio/video y volante.
Adaptador de antena: 40-EU55

Compatible con Chevrolet Malibu  
(excluyendo Malibu Limited) 2016-2024
Visite MetraOnline.com para obtener información más detallada sobre el producto y aplicaciones 
actualizadas específicas para vehículos.

A B C D



386.257.1187   |   MetraOnline.com2

DESMONTAJE DEL TABLERO

(Figura A)

(Figura B)

(Figura C)

(Figura D)

(Figura E)

(Figura F)

Eliminar el área sombreada

1. Suelte y retire el pequeño panel de 
moldura arriba de la pantalla de la 
radio de fábrica, y luego quite (2) 9/32 
“tornillos expuestos. (Figura A)

2. Desenganche y quite el panel de la 
moldura de debajo de los controles de 
clima se extendió a través del tablero, y 
arriba de la guantera. (Figura B)

3. Desenganche y quite el controles del 
clima. (Figura C)

4. Dentro de una pequeña cavidad situada 
detrás de los controles de clima, eliminar 
(2) 9/32” tornillos hacia arriba que 
sujetan el ensamble de radio. (Figura D)

5. Desenganche y quite el ensamble de 
radio. (Figura E) 

6. Cortar y quitar el área sombreada de la 
sub tablero para espacio permitir la para 
la radio de mercado secundario.  
(Figura F)

 Continúe con el ensamble del kit



REV. 7/24/2025 INST95-3019B 3

ENSAMBLE DEL KIT

1. Asegure los soportes del radio en la 
radio con los tornillos suministrados con 
el radio.  (Figura A)

2. Deslice el radio/soporte/ensamblaje 
entre el panel de moldura y carcasa 
del radio y sujételo con los (6) #8 x 
3/8” tornillos de Phillips suministrados.  
(Figura B)

3. Localice el arnés de cableado de 
fábrica y el conector de la antena en 
el tablero y haga todas las conexiones 
necesarias al radio. Metra recomienda 
que use adaptadores adecuados de 
acoplamiento de Metra y/o de AXXESS. 
Pruebe el radio para verificar que 
funcione correctamente.

4. Vuelva a armar el tablero al revés de 
como lo desarmó.

(Figura A) (Figura B)



Metra. The World’s Best Kits.® MetraOnline.com © COPYRIGHT 2025 METRA ELECTRONICS CORPORATION REV. 7/24/25 INST95-3019B

I N S T R U C C I O N E S  D E  I N S TA L AC I Ó N
95-3019B

Metra recomienda MECP
Técnicos certificados

¿Tienes dificultades? Estamos aquí para ayudar.

 Póngase en contacto con nuestra 
 línea de soporte técnico en:
 386-257-1187
 O por correo electrónico a:
 techsupport@metra-autosound.com

Horario de Soporte Técnico (hora estándar del este)
Lunes - Viernes: 9:00 AM - 7:00 PM
Sábado: 10:00 AM - 5:00 PM
Domingo: 10:00 AM - 4:00 PM


